
MATHS

BOOKS - OBJECTIVE RD SHARMA ENGLISH

ALGEBRAIC INEQUATIONS

Illustration

1. If  , then

A. 

B. 

C. 

( x + 4) ≥ (x − 6), x ∈ R
1

2

3

5

1

3

[120, ∞]

( − ∞, 120]

[0, 120]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_XTaMj1sq8ZP6


D. 

Answer: B

Watch Video Solution

[ − 120, 0]

2. 

, then x belongs to the internal

A. 

B. 

C. 

D. 

if + >  and − <
5x

4

3x

8

39

8

2x − 1

12

x − 1

3

3x + 1

4

(3, ∞)

(0, ∞)

( − ∞, 3)

( − ∞, 0)

https://dl.doubtnut.com/l/_XTaMj1sq8ZP6
https://dl.doubtnut.com/l/_7tPJqRhEcfbp


Answer: A

Watch Video Solution

3. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−5 ≤ ≤ 9
2 − 3x

4

( − ∞, 22/3)

[ − 34/3, 22/3]

[22/3, ∞)

( − ∞, − 34/3]

https://dl.doubtnut.com/l/_7tPJqRhEcfbp
https://dl.doubtnut.com/l/_IOuGLvA4VKWY


4. The set of all values of x satisfying the inequations

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

|x − 1| ≤ 5  and |x| ≥ 2,

[ − 4, 6]

[ − 4, − 2]

[ − 4, − 2] ∪ [2, 6]

[2, 6]

5. Solve 1 ≤ |x − 2| ≤ 3

https://dl.doubtnut.com/l/_hEx6sEZa7EF6
https://dl.doubtnut.com/l/_9uS0jV17FdVr


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[ − 1, 5]

[3, 5]

[ − 1, 1]

[ − 1, 1] ∪ [3, 5]

6. The solution set of the inequation 

, is

A. 

B. 

≥ 1
3

|x| + 2

[ − 1, 1]

( − 1, 1)

https://dl.doubtnut.com/l/_9uS0jV17FdVr
https://dl.doubtnut.com/l/_Bwx9FYKpfmco


C. 

D. 

Answer: A

Watch Video Solution

( − ∞, 1]

[1, ∞)

7. if , then x belongs to the internal

A. 

B. 

C. 

D. 

∣
∣
∣

∣
∣
∣

> 1
2

x − 4

(2, 6)

(2, 4) ∪ (4, 6)

( − ∞, 2)

(6, ∞)

https://dl.doubtnut.com/l/_Bwx9FYKpfmco
https://dl.doubtnut.com/l/_rDDXUkcIOVnL


Answer: B

Watch Video Solution

8. if , then x belongs to the internal

A. (1, 2)

B. (0, 1)

C. 

D. 

Answer: C

Watch Video Solution

≥ 2
x − 1

2

[5, ∞)

(1, ∞)

https://dl.doubtnut.com/l/_rDDXUkcIOVnL
https://dl.doubtnut.com/l/_nhXYkBsGo8hd


9. The set of all values of x satisfying the inequations

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(x − 1)3(x + 1) < 0

( − 1, 1)

( − ∞, − 1)

[ − 1, 1]

( − 1, ∞)

10.  then  lies in the interval≤ 0
|x| − 1

|x| − 2
x

https://dl.doubtnut.com/l/_fCtJL0POkA34
https://dl.doubtnut.com/l/_raP2rYIxJFCg


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

[ − 1, 2]

( − 2, 2)

( − 2, − 1] ∪ [1, 2)

[ − 1, 1]

11. Solution set of  is

A. (1, 4)

B. [2, 4]

C. (2, 4)

(5x − 1) < (x + 1)2 < (7x − 3)

https://dl.doubtnut.com/l/_raP2rYIxJFCg
https://dl.doubtnut.com/l/_56m72ilr1Pgx


Section I Solved Mcqs

D. 

Answer: C

Watch Video Solution

( − ∞, 1) ∪ (2, ∞)

1. The solution set of the inequation  is

A. (2, 3)

B. [2, 3]

C. 

D. none of these

> 2,
x − 1

x − 2

( − ∞, 2) ∪ (3, ∞)

https://dl.doubtnut.com/l/_56m72ilr1Pgx
https://dl.doubtnut.com/l/_OrrrdYWhuI6B


Answer: A

Watch Video Solution

2. The complete set of values of 'x' which satisfy the

inequations:  and  is :

A. 

B. (2, 3)

C. 

D. 

Answer: D

Watch Video Solution

5x + 2 < 3x + 8 < 4
x + 2

x − 1

( − ∞, 1)

( − ∞, 3)

( − ∞, 1) ∪ (2, 3)

https://dl.doubtnut.com/l/_OrrrdYWhuI6B
https://dl.doubtnut.com/l/_Cxf22sujD6WA


3. The solution set of the inequation ,

is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

|2x − 3| < x − 1

(4/3, 3/2) ∪ (3/2, 2)

(4/3, 2)

[3/2, 2)

https://dl.doubtnut.com/l/_Cxf22sujD6WA
https://dl.doubtnut.com/l/_4D6Qy8GNKBNA


4. Write the solution set of the inequation

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

|x − 1| ≥ |x − 3|.

( − ∞, 2]

[2, ∞)

[1, 3)

5. The solution set of the inequation 

is

|x| − 1 < 1 − x,

https://dl.doubtnut.com/l/_rUQ4wzHOn0Je
https://dl.doubtnut.com/l/_2aRELlB8dEfj


A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

( − 1, 1)

(0, ∞)

( − 1, ∞)

6. The set of all real numbers 
 for which


 is
 
 b. 


c. 
d.

x

x2 − |x + 2| + x > 0 ( − ∞, − 2)

( − ∞, − √2) ∪ (√2, ∞) ( − ∞, − 1) ∪ (1, ∞)

(√2, ∞)

https://dl.doubtnut.com/l/_2aRELlB8dEfj
https://dl.doubtnut.com/l/_fsAIMq9MmhHj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − ∞, − 2) ∪ (2, ∞)

( − ∞, − √2) ∪ (√2, ∞)

( − ∞, − 1) ∪ (1, ∞)

(√2, ∞)

7. The solution set of the inequation ,

is

A. 

B. 

> 1
|x + 3| + x

x + 2

( − 5, − 2) ∪ ( − 1, ∞)

( − 5, − 2)

https://dl.doubtnut.com/l/_fsAIMq9MmhHj
https://dl.doubtnut.com/l/_WMzPkctiPV6K


C. 

D. none of these

Answer: A

Watch Video Solution

( − 1, ∞)

8. The set of values of x for which the inequality

 always holds true, is

A. 

B. 

C. 

D. none of these

|x − 1| + |x + 1| < 4

( − 2, 2)

( − ∞, − 2) ∪ (2, ∞)

( − ∞, − 1] ∪ [1, ∞)

https://dl.doubtnut.com/l/_WMzPkctiPV6K
https://dl.doubtnut.com/l/_jSOK53IgxXXv


Answer: A

Watch Video Solution

9. The solution set of the inequation

 is ... ([*] denotes the greatest

integer function )

A. 

B. 

C. 

D. 

Answer: D

|[|x| − 7]| − 5 < 0,

[3, 12)

( − 12, − 3]

( − 12, 12)

( − 12, − 3] ∪ [3, 12)

https://dl.doubtnut.com/l/_jSOK53IgxXXv
https://dl.doubtnut.com/l/_ApsKz9oQhlOB


Watch Video Solution

10. If [x] denotes the greatest integer less than or equal

to x, then the solution set of inequation 

is ...

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

> 0,
[x] − 2

4 − [x]

(2, 3]

[3, 4)

[2, 3]

[3, 4]

https://dl.doubtnut.com/l/_ApsKz9oQhlOB
https://dl.doubtnut.com/l/_4hVeUvtvYF4F


11. The area of the region represented by

, is

A. 36 sq. units

B. 18 sq. units

C. 72 sq. units

D. 6 sq. units

Answer: B

Watch Video Solution

|x − y| ≤ 3  and |x + y| ≤ 3

12. The total number of integral points i.e. points having

integral coordinates lying in the region represented by

https://dl.doubtnut.com/l/_YtMifRWHJMrK
https://dl.doubtnut.com/l/_lRtpoqsZayzs


the inequations  is

A. 25

B. 36

C. 13

D. 12

Answer: C

Watch Video Solution

|x − y| < 3  and |x + y| < 3

13. The solution set of the inequation , is

A. 

B. 

∣
∣
∣

− 2
∣
∣
∣

< 4
1

x

( − ∞, − 1/2)

(1/6, ∞)

https://dl.doubtnut.com/l/_lRtpoqsZayzs
https://dl.doubtnut.com/l/_d4aXTeKO0xvv


C. 

D. 

Answer: D

Watch Video Solution

( − 1/2, 1/6)

( − ∞, − 1/2) ∪ (1/6, ∞)

14. The set of real values of x satisfying the inequality

, is

A. 

B. 

C. 

D. 

∣∣x
2 + x − 6∣∣ < 6

( − 4, 3)

( − 3, 2)

( − 4, − 3) ∪ (2, 3)

( − 4, − 1) ∪ (0, 3)

https://dl.doubtnut.com/l/_d4aXTeKO0xvv
https://dl.doubtnut.com/l/_3b1IJcdByIL6


Answer: D

Watch Video Solution

15. The set of real values of x satisfying

, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

||x − 1| − 1| ≤ 1

[ − 1, 3]

[0, 2]

[ − 1, 1]

https://dl.doubtnut.com/l/_3b1IJcdByIL6
https://dl.doubtnut.com/l/_iigrjoq1UZoA


16. The largest interval for which


`-4

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x12 + x9 + x4 − x + 1 > 0

( − 4, 0]

( − 100, 100)

(0, 1)

( − ∞, ∞)

https://dl.doubtnut.com/l/_iigrjoq1UZoA
https://dl.doubtnut.com/l/_qYViPdPnnunz


17. The number of integral solutions of

 is

A. 2

B. 3

C. 4

D. 5

Answer: D

Watch Video Solution

x2 + 9 < (x + 3)2 < 8x + 25

18. If  for all  then ....x2 − ax + 1 − 2a2 > 0 x ∈ R,

https://dl.doubtnut.com/l/_6lcb6MH5GRqm
https://dl.doubtnut.com/l/_Ofnl2OtcPiXM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a ∈ ( − 2/3, 2/3)

a ∈ [ − 2/3, 2/3]

a ∈ ( − 2/3, 1)

a ∈ (0, 2/3)

19. The least integral value of 'k' for which

 for all , is:

A. 5

B. 4

(k − 2)x2 + 8x + k + 4 > 0 xεR

https://dl.doubtnut.com/l/_Ofnl2OtcPiXM
https://dl.doubtnut.com/l/_Yo846PuPabnb


C. 3

D. none of these

Answer: A

Watch Video Solution

20. If 

then

A. 

B. 

C. 

D. 

9x+ 1 + (a2 − 4a − 2)3x + 1 < 0for allx ∈ R,

a ∈ R

a ∈ R+

a ∈ [1, ∞)

a ∈ R − (2)

https://dl.doubtnut.com/l/_Yo846PuPabnb
https://dl.doubtnut.com/l/_wjCk6e06hBPf


Exercise

Answer: D

Watch Video Solution

1. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: C

≤ 2
x + 4
x − 3

( − ∞, 3) ∪ (10, ∞)

(3, 10]

( − ∞, 3] ∪ [10, ∞)]

https://dl.doubtnut.com/l/_wjCk6e06hBPf
https://dl.doubtnut.com/l/_kzhRWCEWIqK6


Watch Video Solution

2. If , then x belongs to the

interval

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

≥
3(x − 2)

5

5(2 − x)

3

(2, ∞)

[2, ∞)

( − ∞, 2]

https://dl.doubtnut.com/l/_kzhRWCEWIqK6
https://dl.doubtnut.com/l/_bgEYU7nclwNY
https://dl.doubtnut.com/l/_FUkWK8xSzZTP


3. solve the inequation  and represent this

solution on the number line.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

≥ 5
2x + 4
x − 1

(1, 3)

(1, 3]

( − ∞, 1) ∪ [3, ∞)

4. The solution set of the inequation , is

A. 

< 6
4x + 3

2x − 5

(5/2, 33/8)

https://dl.doubtnut.com/l/_FUkWK8xSzZTP
https://dl.doubtnut.com/l/_SUlqqhH9F9bl


B. 

C. 

D. 

Answer: B

Watch Video Solution

( − ∞, 5/2) ∪ (33/8, ∞)

(5/2, ∞)

(33/8, ∞)

5. The number of integral solutions of

, is

A. 2

B. 3

C. 4

2(x + 2) > x2 + 1

https://dl.doubtnut.com/l/_SUlqqhH9F9bl
https://dl.doubtnut.com/l/_ReCU3Gq8ITrm


D. 5

Answer: B

Watch Video Solution

6. If , then x belongs to the interval

A. 

B. 

C. 

D. 

Answer: A

h id l i

|3x + 2| < 1

( − 1, − 1/3)

[ − 1, − 1/3]

( − ∞, − 1)

( − 1/3, ∞)

https://dl.doubtnut.com/l/_ReCU3Gq8ITrm
https://dl.doubtnut.com/l/_hOsd8GsoDgRb


Watch Video Solution

7. The solution set of the inequation

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|2x − 3| < |x + 2|,

( − ∞, 1/3)

(1/3, 5)

(5, ∞)

( − ∞, 1/3) ∪ (5, ∞)

https://dl.doubtnut.com/l/_hOsd8GsoDgRb
https://dl.doubtnut.com/l/_ptl26sfLDaF9


8. The solution set of the inequation  is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∣
∣
∣

+ 1
∣
∣
∣

> 2,
3

x

(0, 3]

[ − 1, 0]

( − 1, 0) ∪ (0, 3)

9. The solution set of the inequation 

, is

0 < |3x + 1| <
1

3

https://dl.doubtnut.com/l/_dbJATogp3LMF
https://dl.doubtnut.com/l/_6LNCsFtzXRby


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 4/9, − 2/9)

[ − 4/9, − 2/9]

( − 4/9, − 2/9) − [ − 1/3]

[ − 4/9 − 2/9] − [ − 1/3]

10. The solution set of the inequation

, is

A. 

B. 

> 1, x ∈ R
x2 − 3x + 4

x + 1

(3, ∞)

( − 1, 1) ∪ (3, ∞)

https://dl.doubtnut.com/l/_6LNCsFtzXRby
https://dl.doubtnut.com/l/_zyaAhgIdRNTC


C. 

D. none of these

Answer: B

Watch Video Solution

[ − 1, 1] ∪ [3, ∞)

11. The solution set of the inequation...

 is ...

A. 

B. 

C. 

D. none of these

> 1, x ≠ 4
2

|x − 4|

(2, 6)

(2, 4) ∪ (4, 6)

[ − 1, 1] ∪ [3, ∞)

https://dl.doubtnut.com/l/_zyaAhgIdRNTC
https://dl.doubtnut.com/l/_wPS7ANn2w7mK


Answer: B

Watch Video Solution

12. What is the solution set of the inequality

 ?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

<
1

|x| − 3

1

2

( − ∞, − 5) ∪ (5, ∞)

( − 3, 3)

( − ∞, − 5) ∪ ( − 3, 3) ∪ (5, ∞)

https://dl.doubtnut.com/l/_wPS7ANn2w7mK
https://dl.doubtnut.com/l/_BHzBikqLeuN2


13. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∣
∣
∣

∣
∣
∣

> 2
2x − 1

x − 1

(34, 1) ∪ (1, ∞)

(3/4, ∞)

( − ∞, 3/4)

14. The solution set of the inequation , is< 0
|x − 2|

x − 2

https://dl.doubtnut.com/l/_BHzBikqLeuN2
https://dl.doubtnut.com/l/_y3WPp24x5mz4
https://dl.doubtnut.com/l/_2GXmHBpWuDyM


A. 

B. 

C. R

D. 

Answer: B

Watch Video Solution

(2, ∞)

( − ∞, 2)

( − 2, 2)

15. Write the solution set of inequation 

A. 

B. 

C. 

∣
∣
∣
x +

∣
∣
∣

> 2.
1

x

R − {0}

R − { − 1, 0, 1}

R − {1}

https://dl.doubtnut.com/l/_2GXmHBpWuDyM
https://dl.doubtnut.com/l/_RjM0gAAHDi4f


D. 

Answer: B

Watch Video Solution

R − { − 1, 1}

16. If the complete set of value of x satisfying

 then 

A. 

B. 

C. 

D. none of these

|x − 1| + |x − 3| ≥ ( − ∞, a]ii[b, ∞),

a + b = :

[0, 4]

( − ∞, − 2) ∪ [4, ∞)

( − ∞, 0] ∪ [4, ∞)

https://dl.doubtnut.com/l/_RjM0gAAHDi4f
https://dl.doubtnut.com/l/_Ri3QB1gSUcJy


Answer: C

Watch Video Solution

17. The solution set of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + 2 ≤ 3x ≤ 2x2 − 5

ϕ

[1, 2]

( − ∞, − 1] ∪ [5/2, ∞)

https://dl.doubtnut.com/l/_Ri3QB1gSUcJy
https://dl.doubtnut.com/l/_uSxJ1pZf8BHK


18. Writhe the set of values of 
 satisfying

A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

x

|x − 1| ≤ 3 and |x − 1| ≤ 1.

[2, 4]

( − ∞, 2] ∪ [4, ∞)

[ − 2, 0] ∪ [2, 4]

19. The solution set of the inequation 

 isx2 + (a + b)x + ab < 0,  wherea < b,

https://dl.doubtnut.com/l/_OjGyvcZbqG9X
https://dl.doubtnut.com/l/_OxifVpFQj7ul


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, b)

( − ∞, a) ∪ (b, ∞)

( − b, − a)

( − ∞, − b) ∪ ( − a, ∞)

20. The number of integral solutions of

, is

A. 3

B. 4

x2 − 3x − 4 < 0

https://dl.doubtnut.com/l/_OxifVpFQj7ul
https://dl.doubtnut.com/l/_YqkbKlztebAp


C. 6

D. none of these

Answer: B

Watch Video Solution

21. The solutiong set of , is

A. 

B. 

C. 

D. 

∣∣x
2 − 10∣∣ ≤ 6

(2, 4)

( − 4, − 2)

( − 4, − 2) ∪ (2, 4)

[ − 4, − 2] ∪ [2, 4]

https://dl.doubtnut.com/l/_YqkbKlztebAp
https://dl.doubtnut.com/l/_n1pXknTAEYfD


Answer: D

Watch Video Solution

22. The solution set of the inequation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∣
∣
∣
x +

∣
∣
∣

< 4
1

x

(2 − √3, 2 + √3) ∪ ( − 2 − √3, − 2 + √3)

R − (2 − √3, 2 + √3)

R − ( − 2 − √3, − 2 + √3)

https://dl.doubtnut.com/l/_n1pXknTAEYfD
https://dl.doubtnut.com/l/_GWCb2HbwJFOj


23. The solution set of , is

A. 

B. 

C. R

D. 

Answer: D

Watch Video Solution

x2 + x + |x| + 1 < 0

(0, ∞)

( − ∞, 0)

ϕ

24. If  , then x belongs to

A. 

|x − 1| + |x| + |x + 1| ≥ 6

( − ∞, 2)

https://dl.doubtnut.com/l/_GytHiSlEchk2
https://dl.doubtnut.com/l/_2wSYBwLRHjcQ


B. 

C. R

D. 

Answer: B

Watch Video Solution

( − ∞, − 2] ∪ [2, ∞)

ϕ

25. If , then x belongs to

A. 

B. 

C. 

D. R

∣
∣
∣

∣
∣
∣

≥ 1
x2 + 6

5x

( − ∞, − 3)

( − ∞, − 3) ∪ (3, ∞)

( − ∞, − 3] ∪ [ − 2, 0) ∪ (0, 2] ∪ [3, ∞)

https://dl.doubtnut.com/l/_2wSYBwLRHjcQ
https://dl.doubtnut.com/l/_qKKZc7TlF2pk


Answer: C

Watch Video Solution

26. the greatest negative integer satisfying

 and  is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

x2 + 4x − 77 < 0 x2 > 4

−4

−6

−7

https://dl.doubtnut.com/l/_qKKZc7TlF2pk
https://dl.doubtnut.com/l/_E0Udmqy6uKyn


27. If , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 − 3x − 2x2 ≥ 0

x ≤ − 2

−2 ≤ x ≤
1

2

x ≥ − 2

x ≤
1

2

28. The solution of , is6 + x − x2 > 0

https://dl.doubtnut.com/l/_E0Udmqy6uKyn
https://dl.doubtnut.com/l/_vchWiBfKaqt7
https://dl.doubtnut.com/l/_7mfXgbcgoPl7


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

−1 < x < 2

−2 < x < 3

−2 < x < − 1

29. If , then

A. 

B. 

C. 

4 ≤ x ≤ 9

(x − 4)(x − 9) ≤ 0

(x − 4)(x − 9) ≥ 0

(x − 4)(x − 9) < 0

https://dl.doubtnut.com/l/_7mfXgbcgoPl7
https://dl.doubtnut.com/l/_Gp1Ltv4hqFDA


D. 

Answer: A

Watch Video Solution

(x − 4)(x − 9) > 0

30. The set of real values of  for which

 is

A. 

B. 

C. 

D. none of these

x

< 8,
10x2 + 17x − 34

x2 + 2x − 3

( − 5/2, 2)

(0, ∞)

( − 1, ∞)

https://dl.doubtnut.com/l/_Gp1Ltv4hqFDA
https://dl.doubtnut.com/l/_uNDSsGbTnMTF


Answer: B

Watch Video Solution

31. The solution set of the inequation

 is
 (i) 
 (ii) 
 (iii)


(iv) none of these

A. 

B. 

C. 

D. none of these

Answer: D

||x| − 1| < |1– x|, x ∈ R, ( − 1, 1) (0, ∞)

( − 1, ∞)

( − 1, 1)

(0, ∞)

( − 1, ∞)

https://dl.doubtnut.com/l/_uNDSsGbTnMTF
https://dl.doubtnut.com/l/_jH5F6JULkxlf


Watch Video Solution

32. Find the set of all 
 foir which

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x

> .
2x

(2x2 + 5x + 2)

1

(x + 1)

( − 2, − 1)

( − 2/3, 0)

( − 2/3, − 1/2)

( − 2, − 1) ∪ ( − 2/3, − 1/2)

https://dl.doubtnut.com/l/_jH5F6JULkxlf
https://dl.doubtnut.com/l/_crb2YReBmfmD
https://dl.doubtnut.com/l/_xpzjAbhqTC1u


33. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

Solve > 3
8x2 + 16x − 51

2x2 + 5x − 12

(3/2, 5/2)

( − 4, − 3)

( − 4, − 3) ∪ (3/2, 5/2)

34. The solution set of

 is

A. 

(5x − 1) < (x + 1)2 < (7x − 3)

ϕ

https://dl.doubtnut.com/l/_xpzjAbhqTC1u
https://dl.doubtnut.com/l/_4VV3JkZg6vsO


B. 

C. 

D. 

Answer: D

Watch Video Solution

{1}

{2}

{3}

35. The number of integral solutions of  is

A. 1

B. 2

C. 5

D. 4

>
x + 1

x2 + 2

1

4

https://dl.doubtnut.com/l/_4VV3JkZg6vsO
https://dl.doubtnut.com/l/_7EL1AmG48t8V


Answer: C

Watch Video Solution

36. The solution set of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + 2 ≤ 3x ≤ 2x2 − 5

ϕ

[1, 2]

( − ∞, − 1] ∪ [5/2, ∞)

https://dl.doubtnut.com/l/_7EL1AmG48t8V
https://dl.doubtnut.com/l/_g8MoHx0ROzIj


37. If x is an integer satsifying

 then the number

of positive values of x is :

A. 3

B. 4

C. 2

D. infinite

Answer: A

Watch Video Solution

x2 − 6x + 5 ≥ 0 and x2 − 2x > 0

https://dl.doubtnut.com/l/_neE3RfxJbVdG


38. If  are numbers such that  

   thn the

largest and smallest numbers are

A. p and q respectively

B. r and t respectively

C. r and q respectively

D. q and p respectively

Answer: A

Watch Video Solution

p, q, r, s, t p + q < r + s

q + r < s + t r + s < t + p s + t < p + q

https://dl.doubtnut.com/l/_8XeE8o2V7msu


39. The number of integral solutions of 
 is

(A) 4 (B) 5 (C) 3 (D) 2 (E) 6

A. 4

B. 5

C. 3

D. 2

Answer: C

Watch Video Solution

>
x + 2

x2 + 1

1

2

https://dl.doubtnut.com/l/_JpgLLdXnmYuq

